TeMa ypoka:

r

Teopema
CUHYCOB




[lpoBEpPKa AOMaALLHEro

* 3aaHus

« N2 1020 (a, B)
OTBEeTbI:

a) =12./6 (cmé).

8) =~ 36,41 (cm?).



PelleHue:

a) S=%AB-AC°sinA.

a)s=% « 6./8 ¢+ 4sin60°=3./8 -4{§=12J€s (cv).

B) B)S=-;-CA-CB°sinC=% . 14 + 7 sin 48°.

ITo TabnuiaM TPUrOHOMETPUYECKUX PYHKOUM HAXO-
aum: sin 48° = 0,7431. CnenoBaTennbHO,

S =49 + 0,7431 = 36,41 (cM?).
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OTBeTbl K 3a4a4aM Mo

* yepTexam:

Puc. 174




Puc. 176

s=12\/?



Puc. 179

h=2v3



* TeopemMa CUHYCOB:

CTOpPOHLI
TpeyronbHUKa
nponopunoHanbHbl
CUHYCaM

NS AA"T14IPNA T S\ "MV AN



NAHO: [\ ABC
* AB = ¢, BC = g,
CA = B.
[NOKA3ATD:
a = b = ¢
sin A sinB sin C




OOKA3ATEJIbCTBO:

. Mo Teopeme 0 Nnowaan TpeyrosbHUKA

= labsinC(1l) S=1bcsinA(2) S=1casinB(3)
2 2 2
pupaBHAeM 1 1 2 paBeHCTBa:
labsinC=1bcsinA __, asinC=csinAnwm a_=_c
2 2 sin A sin C
3. lpupaBHAeM 2 1 3 paBeHCTBO:
S=1bcsinA S=1casinBbsinA = asinB wwm a_=_8
2 2 sin A sinB

MTAK:a = b = ¢
sin A sinB sinC

TeopeMa gokasaHa.



